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1) Which of the following is the ground state electronic configuration of chlorine
(A) 1s22s22p6 (B) 1s22s22p63p4

(C) 1s22s22p63s23p5 (D) 1s22s22p33p5

2) The Monomer of Poly(Vinyl chloride ) PVC is

(A)  ethylene (B) styrene

(C) vinyl chloride (D) vinyl alcohol

3) Cellulose is a polymer of

(A) ribose (B) fructose

(C) glucose (D) sucrose

4) Which polymers occur naturally

(A) starch and nylon (B) starch and cellulose

(C) protein and nylon (D) protein and PVC

5) To possess optical activity, a compound must be

(A) a carbohydrate (B) a hexose

(C) asymmetric (D) D-Glucose

6) Which of the following monosacharides is not an aldose?

(A) erythrose (B) fructose

(C) glucose (D) ribose

7) Ziegler-Natta catalyst is used for the polymerization of

(A) stereoregular (B) inorganic polymer

(C) elastomers (D)  dendrimers
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8)  Nylon 6,6 is ______ a polymer

(A) condensation (B) addition

(C) coordination (D) cationic

9)  The surfactants are used in

(A) emusion polymerization (B) bulk polymerization

(C) suspension polymerization (D) solution polymerization

10) Proteins, which are tremendously complex molecules, what are their basic units
or building blocks?

(A) carbohydrates (B) NH
2

(C) polypeptides (D) amino acids

11) The bond order in NO+
2
 is

(A) 1.5 (B) 2

(C) 3 (D) 4

12)  Which of the following compound has the highest boiling point

(A) CH3CH2CH2CH3 (B) CH3OH

(C) CH
3
NH

2
(D) CH

2
F

2

13) The energy associated with the stability of Benzene is

(A) resonance energy (B) potential energy

(C) free energy (D) energy of activation

(P.T.O.)
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14) The bond distance (length)is defined as

(A) Distance between the nucleus and electron

(B) Distance between centers of bonded atoms

(C) Distance between any two atoms

(D) Distance between outermost electrons

15)  Hexane and 3 methylpentane are examples of

(A) enantiomers (B) stereomers

(C) diastereomers (D) constitutional isomers

16) What is the molecular geometry for ammonia (NH
3
)?

(A) saw horse (B) trigonal planar

(C) tetrahedral (D) trigonal pyramidal

17) Poise is the unit of

(A) mass (B) viscosity

(C) pressure (D) density

18) Molecular structure of SF6 is

(A) linear (B) tetrahedral

(C) hexagonal (D) octahedral
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19) The reaction between 2-iodo hexane and ethanol to give a substitution product
most likely follows an .......... Mechanism

(A) SN2 (B) SN1

(C) E (D) Z

20) A chirality centre is characterized by an atom that has

(A) four different groups (B) three different groups

(C) all groups same (D) two groups same

21) Alkynes have _______ Bond between two of the carbon atoms

(A) single (B) triple

(C) double (D) none of the above

22) Beckmann rearrangement is catalysed by

(A) H
2
SO

4
(B) NaOH

(C) CC1
4

(D) A1Cl
3

23) Intermediate formed in Grignard reaction is

(A) RCl (B) KOH

(C) HMgL (D) RMgX

24) The Claisen condensation is catalysed by

(A) sodium ethoxide  (B) NaOH

(C) HCl (D) H2SO4
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25) A chiral molecule has

(A) asymmetric carbon (B) cation

(C) anion (D) none of these

26) Catalytic hydrogenation alkenes occur at room temperature when_______ is a
catalyst.

(A) Pt/pd (B) Pt /Ni

(C) PdNi (D) Ni

27) For a perfect gas ,according to Boyle’s law (where P = absolute pressure,
v = volume and T= absolute temperature)

(A) V/T = constant, if p is kept constant

(B) PV= constant,if T is kept constant

(C) P/T = constant,if v is kept constant

(D) T/P = constant, if V is kept constant.

28) The equation of Gibbs free energy is given by

(A) G=H–TS (B) G=HTS

(C) G=TS–H (D) G=TS+H

29) The apparatus used to measure heat changes in a chemical reaction is give by

(A) Polarimeter (B) Calorimeter

(C) Colorimeter (D) Dilatometer
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30) Which of the following equation is used to calculate the heat of reaction when
ΔG at two temperatures is given

(A) Clapeyron equation (B) Kirchoff’s law.

(C) Gibbs - Helmhotz equation (D) Newton’s law

31) Rate of reaction changes with

(A) temperature (B) catalyst

(C) concentration (D) all of these

32) The rate of reaction can be expressed as

(A) – dx /dt (B) db/dt

(C) dQ/dt (D) dp/dt

33) Arrhenius equation is written in the form of

(A) R=Ae–Ea/RT (B) k=A e–Ea/RT

(C) K=PZ e–Ea/RT (D) PV =RT

34) Which of the following is not a unit of pressure

(A) Torr (B) N/m2

(C) Sec (D) Bar or pascal

35) The process in which substance gains electrons is called

(A) oxidation (B) hydrogenation

(C) sublimation (D) reduction
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36) Common covalent bonds include

(A) MgO (B) KI

(C) LiCl (D) CH4

37) Electronic configuration of chlorine atom is

(A) 2,6,8 (B) 2,8,8

(C) 2,8,7 (D) 2,8, 1

38) Which of the bonds shown the greatest polarity?

(A) H-Cl (B) H -NH
2

(C) H - OH (D) H-SH

39) Which substance has a polar covalent bond between its atoms

(A) Ca
3
 N

2
(B) NH

3

(C) K3N (D) NaCl

40) Which bond has the greatest ionic character ?

(A) H.........O (B) H........Cl

(C) H.........F (D) H........N

41) Common carrier gas used in chromatography is

(A) Oxygen (B) Helium

(C) Nitrogen (D) Chlorine
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42) In ______ Chromatography the absorbent serves as a stationary phase

(A) GC (B) HPLC

(C) TLC (D) GCMS

43) Which of the following cannot be used as a carrier gas in chromatography

(A) Hydrogen (B) N
2

(C) He (D) O
2

44) Thin layer chromatography is

(A) partition chromatography (B) electrical mobility

(C) adsorption chromatography (D) none of the above

45) In gas chromatography, the basis for separation of the components of the volatile
materials is the difference in

(A) partition coefficients (B) conductivity

(C) molecular weight (D) molarity

46) ...........is an international standard

(A) ASTM (B) ISI

(C) BIS (D) ASI

47) ........... is the Indian standard organization

(A) ISO (B) DIN

(C) BIS (D) JIS
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48) Measurement which is close to true value is

(A) accuracy (B) average

(C) precise (D) error

49)  Expansion of ASTM is

(A) Asian standard for testing and maintenance

(B) American standard for trail and maintenance

(C) American society for testing and materials

(D) American society for testing methods

50)  Systemic error can be removed by

(A) buying new instrument (B) breaking instrument

(C) dusting instrument (D) recalibrating instrument


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Note : English version of the instructions is printed on the front cover of this booklet.

C s̈ÀåyðUÀ½UÉ ̧ ÀÆZÀ£ÉUÀ¼ÀÄ
 1. N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ eÉÆvÉUÉ 50 ¥Àæ±ÉßUÀ¼À£ÀÄß ºÉÆA¢gÀÄªÀ ªÉÆºÀgÀÄ ªÀiÁrzÀ ¥Àæ±Éß

¥ÀÄ À̧ÛPÀªÀ£ÀÄß ¤ªÀÄUÉ ¤ÃqÀ̄ ÁVzÉ.
 2. PÉÆnÖgÀÄªÀ ¥Àæ±Éß ¥ÀÄ À̧ÛPÀªÀÅ, ¤ÃªÀÅ ¥ÀjÃPÉëUÉ DAiÉÄÌ ªÀiÁrPÉÆArgÀÄªÀ «µÀAiÀÄPÉÌ À̧A§A¢ü¹zÉÝÃ

JA§ÄzÀ£ÀÄß ¥Àj²Ã°¹j.
 3. ¥Àæ±Éß ¥ÀwæPÉAiÀÄ ªÉÆºÀgÀ£ÀÄß eÁUÀævÉ¬ÄAzÀ vÉgÉ¬Äj ªÀÄvÀÄÛ ¥Àæ±Éß¥ÀwæPÉ¬ÄAzÀ N.JA.Dgï. GvÀÛgÀ

ºÁ¼ÉAiÀÄ£ÀÄß ºÉÆgÀUÉ vÉUÉzÀÄ, N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ°è ¸ÁªÀiÁ£Àå ªÀiÁ»wAiÀÄ£ÀÄß vÀÄA©j.
PÉÆnÖgÀÄªÀ ̧ ÀÆZÀ£ÉAiÀÄAvÉ ¤ÃªÀÅ £ÀªÀÄÆ£ÉAiÀÄ°è£À «ªÀgÀUÀ¼À£ÀÄß vÀÄA§®Ä «¥sÀ®gÁzÀgÉ, ¤ªÀÄä GvÀÛgÀ
ºÁ¼ÉAiÀÄ ªÀiË®åªÀiÁ¥À£À ¸ÀªÀÄAiÀÄzÀ°è GAmÁUÀÄªÀ ¥ÀjuÁªÀÄUÀ½UÉ ªÉÊAiÀÄQÛPÀªÁV ¤ÃªÉÃ
dªÁ¨ÁÝgÀgÁVgÀÄwÛÃj.

 4. ¥ÀjÃPÉëAiÀÄ ̧ ÀªÀÄAiÀÄzÀ°è:
a) ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßAiÀÄ£ÀÄß eÁUÀævÉ¬ÄAzÀ N¢j.
b) ¥Àæw ¥Àæ±ÉßAiÀÄ PÉ¼ÀUÉ ¤ÃrgÀÄªÀ £Á®ÄÌ ® s̈Àå DAiÉÄÌUÀ¼À°è CvÀåAvÀ À̧jAiÀiÁzÀ/ À̧ÆPÀÛªÁzÀ

GvÀÛgÀªÀ£ÀÄß ¤zsÀðj¹.
c) N.JA.Dgï. ºÁ¼ÉAiÀÄ°è£À À̧A§A¢ü¹zÀ ¥Àæ±ÉßAiÀÄ ªÀÈvÁÛPÁgÀªÀ£ÀÄß À̧A¥ÀÆtðªÁV vÀÄA©j.
GzÁºÀgÀuÉUÉ, ¥Àæ±Éß ¥ÀwæPÉAiÀÄ°è ¥Àæ±Éß ̧ ÀASÉå 8PÉÌ “C” ̧ ÀjAiÀiÁzÀ GvÀÛgÀªÁVzÀÝgÉ, ¤Ã°/PÀ¥ÀÄà ̈ Á¯ï
¥Á¬ÄAmï ¥É£ï §¼À¹ N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ PÀæªÀÄ À̧ASÉå 8gÀ ªÀÄÄAzÉ F PÉ¼ÀV£ÀAvÉ
vÀÄA©j:

     ¥Àæ±Éß À̧ASÉå 8.                (GzÁºÀgÀuÉ ªÀiÁvÀæ) (¨Á¯ï ¥Á¬ÄAmï ¥É£ï ªÀiÁvÀæ G¥ÀAiÉÆÃV¹)
 5. GvÀÛgÀzÀ ¥ÀÆªÀð¹zÀÝvÉAiÀÄ §gÀªÀtÂUÉAiÀÄ£ÀÄß (avÀÄÛ PÉ® À̧) ¥Àæ±Éß ¥ÀwæPÉAiÀÄ°è MzÀV¹zÀ SÁ° eÁUÀzÀ°è

ªÀiÁvÀæªÉÃ ªÀiÁqÀ̈ ÉÃPÀÄ (N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ°è ªÀiÁqÀ̈ ÁgÀzÀÄ).
 6. MAzÀÄ ¤¢ðµÀÖ ¥Àæ±ÉßUÉ MAzÀQÌAvÀ ºÉZÀÄÑ ªÀÈvÁÛPÁgÀªÀ£ÀÄß UÀÄgÀÄw À̧̄ ÁVzÀÝgÉ, CAvÀºÀ GvÀÛgÀªÀ£ÀÄß

vÀ¥ÀÄà JAzÀÄ ¥ÀjUÀtÂ̧ À̄ ÁUÀÄvÀÛzÉ ªÀÄvÀÄÛ AiÀiÁªÀÅzÉÃ CAPÀªÀ£ÀÄß ¤ÃqÀ̄ ÁUÀÄªÀÅ¢®è. N.JA.Dgï.
ºÁ¼ÉAiÀÄ°è£À GzÁºÀgÀuÉ £ÉÆÃr.

 7. C s̈Àåyð ªÀÄvÀÄÛ PÉÆoÀr ªÉÄÃ°éZÁgÀPÀgÀÄ ¤¢ðµÀÖ¥Àr¹zÀ ̧ ÀÜ¼ÀzÀ°è N.JA.Dgï. ºÁ¼ÉAiÀÄ ªÉÄÃ É̄ ̧ À»
ªÀiÁqÀ̈ ÉÃPÀÄ.

 8. C s̈ÀåyðAiÀÄÄ ¥ÀjÃPÉëAiÀÄ £ÀAvÀgÀ PÉÆoÀr ªÉÄÃ°éZÁgÀPÀjUÉ ªÀÄÆ® N.JA.Dgï. GvÀÛgÀ ºÁ¼É ªÀÄvÀÄÛ
«±Àé«zÁå¤®AiÀÄzÀ ¥ÀæwAiÀÄ£ÀÄß »A¢gÀÄV À̧̈ ÉÃPÀÄ.

 9. C s̈ÀåyðAiÀÄÄ ¥Àæ±Éß ¥ÀÄ À̧ÛPÀªÀ£ÀÄß ªÀÄvÀÄÛ N.JA.Dgï. C s̈ÀåyðAiÀÄ ¥ÀæwAiÀÄ£ÀÄß vÀªÀÄä eÉÆvÉ vÉUÉzÀÄPÉÆAqÀÄ
ºÉÆÃUÀ§ºÀÄzÀÄ.

 10. PÁå®ÄÌ̄ ÉÃlgï, ¥ÉÃdgï ªÀÄvÀÄÛ ªÉÆ É̈Ê̄ ï ¥sÉÆÃ£ïUÀ¼À£ÀÄß ¥ÀjÃPÁë PÉÆoÀrAiÀÄ M¼ÀUÉ C£ÀÄªÀÄw À̧̄ ÁUÀÄªÀÅ¢®è.
 11. C s̈ÀåyðAiÀÄÄ zÀÄµÀÌøvÀåzÀ°è vÉÆqÀVgÀÄªÀÅzÀÄ PÀAqÀÄ§AzÀgÉ, CAvÀºÀ C s̈ÀåyðAiÀÄ£ÀÄß PÉÆÃ¸ïðUÉ

¥ÀjUÀtÂ̧ À̄ ÁUÀÄªÀÅ¢®è ªÀÄvÀÄÛ ¤AiÀÄªÀÄUÀ¼À ¥ÀæPÁgÀ CAvÀºÀ C s̈ÀåyðAiÀÄ «gÀÄzÀÞ PÀæªÀÄ PÉÊUÉÆ¼Àî̄ ÁUÀÄªÀÅzÀÄ.
 12. F ¥ÀæªÉÃ±À ¥ÀjÃPÉëAiÀÄ°è CºÀðgÁUÀ®Ä MlÄÖ 50 CAPÀUÀ¼À°è SC/ST/Cat-I C s̈ÀåyðUÀ¼ÀÄ PÀ¤µÀÖ 8

CAPÀUÀ¼À£ÀÄß, OBC C s̈ÀåyðUÀ¼ÀÄ PÀ¤µÀ× 9 CAPÀUÀ¼À£ÀÄß ªÀÄvÀÄÛ E¤ßvÀgÀ C s̈ÀåyðUÀ¼ÀÄ PÀ¤µÀÖ 10
CAPÀUÀ¼À£ÀÄß ¥ÀqÉAiÀÄvÀPÀÌzÀÄÝ.

N.JA.Dgï. ºÁ¼ÉAiÀÄ£ÀÄß vÀÄA§®Ä À̧ÆZÀ£ÉUÀ¼ÀÄ
 1. ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßUÉ MAzÉÃ MAzÀÄ CvÀåAvÀ ̧ ÀÆPÀÛªÁzÀ/ À̧jAiÀiÁzÀ GvÀÛgÀ«gÀÄvÀÛzÉ.
 2. ¥Àæw ¥Àæ±ÉßUÉ MAzÀÄ ªÀÈvÀÛªÀ£ÀÄß ªÀiÁvÀæ ¤Ã° CxÀªÁ PÀ¥ÀÄà ¨Á¯ï ¥Á¬ÄAmï ¥É£ï¤ßAzÀ ªÀiÁvÀæ

vÀÄA§vÀPÀÌzÀÄÝ. GvÀÛgÀªÀ£ÀÄß ªÀiÁ¥Àðr À̧®Ä ¥ÀæAiÀÄwß À̧̈ ÉÃr.
 3. ªÀÈvÀÛzÉÆ¼ÀVgÀÄªÀ CPÀëgÀªÀÅ PÁt¢gÀÄªÀAvÉ ªÀÈvÀÛªÀ£ÀÄß ̧ ÀA¥ÀÆtðªÁV vÀÄA§ÄªÀÅzÀÄ.
 4. N.JA.Dgï. ºÁ¼ÉAiÀÄ°è AiÀiÁªÀÅzÉÃ C£ÁªÀ±ÀåPÀ UÀÄgÀÄvÀÄUÀ¼À£ÀÄß ªÀiÁqÀ̈ ÉÃr.
 5. GvÀÛj¹zÀ ¥Àæ±ÉßUÀ¼À MlÄÖ ̧ ÀASÉåAiÀÄ£ÀÄß O.M.R. ºÁ¼ÉAiÀÄ°è ¤UÀ¢¥Àr¹gÀÄªÀ eÁUÀzÀ°è £ÀªÀÄÆ¢ À̧vÀPÀÌzÀÄÝ,

E®èªÁzÀ°è O.M.R. ºÁ¼ÉAiÀÄ£ÀÄß ªÀiË®åªÀiÁ¥À£ÀPÉÌ ¥ÀjUÀtÂ̧ ÀÄªÀÅ¢®è.
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